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Instructions : (1) Answer all quest1ons &
(2) Each question® carr1es three marks.

@
(3) Answers shouldébe brlef and straight to the point and
shall not exceed fwe simple sentences.
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1. State the needAor quant1ty surveying. 3
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3. Thegplan of compound wall is shown in figure below. Calculate

its centr? line length : 3
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i
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4. For a hippéd roof shown in figure below. Calculate—

(a) length of common rafter;
(b) number of common rafters spaced at 500 mm c/c,

rise of roof is —5 of span.

if the

pmmpmmmpm—mm—mmmm———— w———r ==
N1 wo
H [
N —
I
Hip rafter -+ ‘\
1 M
' RN HALL 3
™ 4
! My —— -
| L’ s
! e 500 X 4500
! e
! ,
| e
! ce———] 300
|
1 Y

——— v ——— -

Note: All dimensions arc in mm.
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5. Calculate the quantities of 1ngredlents fori 10 cu.m of cement
concrete of (1:2:4) proportlon o, B

}‘\‘ Ho‘o
,,.

6. From the figure below, calculate the ‘quantity of distribution
steel 6 mm ¢ @ 190 mm c/ c requ1red for bottom mat :

S A7

Top cover (clear)j;;"' . 25 mm>
Side clear cover £ 2

é (glear) ‘—flS mm

Bottom coyer
6 mm dia. ba.rs O 22 kg/m

“?& (‘3

DISTRIBUTION
100 thick R.C.C slab
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o RICK WALL NJ A DD
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fam @AT 170c/cALL BARS / All dimenstions are in mm
2000 /2 .
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7. Explain 'I‘fépezoidal Rule’ and ‘Prismoidal Rule’ with usual
notations.

8. From the accompanying figure of a circular soak pit, calculate
the quantity of— .
(@) loose packing of brick jelly 40 mm size;

(b) RCC 1:2: 4 roof over soak pit. 1%+1%

£ :i;fi"l’a. o
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E A 40 mm Brick jelly 2 K
200

§ 200 mm mm

F

80 mm Brick jelly
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Soak pit
circular section
-
£ Brick Bats
N 1600 mm® .
&

o
.
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9. dList anyisix different forms of outgoings.

& 10Wnt¢ a short note on calculation of standard rent.
£ [fm o®
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PART—B

(1) Answer any five d

Instructions : .
(2) Each question' carrl

(3) Answers should be comprt
conten

for valuation is the
answer.
11. Calculate the qu
building shown in figure below :
(a) Earth work excavation

(b) RR Masonary in CM 1 : 6 in basemeé
(c) CC1:5:10 for flooring bed, 100 m

antities for the following ite

for foundation

10x5=50

uestions.
markS- 3 .
es ten e and the criterion

ehensiv
t put not

ms of work for the

1
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nt and!footings
m thickt
§ Yia. @

RC.C.1:2:4:

- SECTION ACROSS THE WALLw |50 M
Dressing office room :[W £ 30 thick gk Bk
— 4000 x 6000 3 masouryin CM
- 1
0
WI ROOM I w |
4000 X 4000
D
L D I'J '-I b [————
I ]
= —

All mesurements are in mm

12. Prepare the detailed e%;;rngte for the

following items of work for

the building éhow‘ﬁ§1g1 figure below :

(@) cC (L£5} 10)

S B

=1

(b) Brick"fnas’éﬁ?gy in CM (1 : 6) for superst
tc‘i?\eduction,_s*,;;,g(éxc:luding parapet wall)

"

(c) ;Iz{;§,.t,§ring with CM (1:5) 12

_bed for foundation

ructure wall without

mm thick for inside the

{/f }j:pjla'ipg without deductions.
~l,'.: D ek e ;"‘
% R ® w i
b@fit\ ‘{j ;(’? 300mm 7 ik
¥ = pw 4 300mm think
b ey, i Bt Moy 5
. L s0x3s00 [|[|W  TCMILE |
Y ; RCC 1:2:4
B Liate! 100mm. think
—D D 8
E
680 0
5 0x 4000 m » i
o4 €| | savormin)
o /AN
o || RRmmony 2l
= % inC.M.1:5 w
5 . C.L:.l:S:lo
PLAN All dimensions are in mamn.
SECTION
REFERENCE
BUILDING D-Door =1000 x 2000
W-Windows =1000 x 1000
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1S. Prepare the data sheet and caleulate the cost for the following

items of work :
(@ RR masonry with CM (1

105 m*

' 8) unit—1 m®

Rough stone

034 m* CM (1:8)
18 No. Mason
28 Nos. Man Mazdoor
LS Sundries N
g ' —10 m| ot
(b) Pointing of RR masonry in CM (1:95) unit l -'.;*‘3‘%'
0-:09 m* CM (1: o $
2:28 Nos. I\L\\m;, 0 gQ\
0-50 Nos. Man 1.1 dooum v
110 Nos. Women 'M“Sﬁ’ilom
LS undx iCShge u-.'
Lead statement of materials : '\ &
SLNo.| Materials Rate at sourc.\,s o _w " Léads Conveyance
(m ?) \ (in km) charges/km
* 3
1 |Rough stone 320-00 /{111\\ @ 15 km 4-:00 / m
2 |Sand 95-00 / mﬂ, 10 km 3:00 / m®
3 |Cement %OSGODO,/ 10 kN
o (l'hmnc) At site

Q 7~
Labour chart*es

Masop } oy &

Man Mazdoor

f\\'oman MaZdoor
Lg'mo charges for CM

}\

8

c‘,:" | ¥ \'

¢ 225-:00/day
¥ 180-00/day
¥ 180-00/day
¢ 40-00/m?

14\ Prepére the data sheet and calculate the cost of the items given

g \<

3 _‘below :
;m) CC (1:5: 10) using 40 mm
092 m3

—

Wil¥

—

0-06 Nos.
0:14 Nos.
1-80 Nos.

1-40 Nos.
LS

/3425
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HBG metal—unit 1 cu.m.
40 mm HBG metal

Sand

Cement

Mason 1 class
Masson II class
Man Mazdoor
Women Mazdoor
Sundries
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(b) RR Stom masonry in CM (:

Rates of labour and materials at site :

1:05 cu.m
0:05 cu.m
0-34 cu.m
0-54 Nos.
126 Nos.
140 Nos.
1:40 Nos.
LS

HBG 40 mm size
Sand

Cement

Rough stone
Bond stone
Mason 1st class
Mason 2nd class

Man Mazdoor %‘w A N

,_’ .-'

Women Mazaoor\g "».;e,

ang charges “for CM

) unit—1 -7

Rough ston¢
Bond ston¢
CM (1:6)
Mason Ist class
Mason lInd class
Man Mazdoor
Women Mazdoor

Sundries

LA

¢ 440 00/1ﬁcufn w
¢ 200:00/1 cum },,
¢ 3, 460 00/1 cu.m
’280 00/ 1 »cu.m
‘?,!iOO 00/1 cu.m
2}5’,&60 00/day
@140 00/day
¢ 110-00/day
¢ 110-00/day

f.,.

¢ 20:00/cu.m

15. Redp lce level$=5f ground along the centre line of a proposed

ﬁroa fr% chainage 0 to 9 are given below. The formation level

¢ & at,:O g‘c’gamage is 10-00 and the road is in downward gradient of
3 “3 in' JOO Formation width of road is 10 m and side slopes are

oy

24" Length of chain is 20 m. The ground is level in the

ransverse direction. Calculate the quantity of earth work by

{ i "2
D
4o Trapezoidal rule.

Chainage

0 1 2

RL of gro

und | 80 | 78 |7-60

720

6:80

6:10

6-20

5:90

50 1490
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16. Prepare the detailed estimate for the following items of work for

-

o

siad culvert shown in figure :

CER I ER=

{@ Earth work excavation for foundation for abutiments and

retums

() CC (1:4:8) for abutment and returng

f~)

e

RCC (1:2:4) for deck slab
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17. Calenlate the following quantities for o septic tank shown
in figurve

(@) Cement conerete 1:4 18 for foundation
(b) 2nd class brickwork in CM (1 : 0)

100 ¢ A.C Ventpipe

TR

100 ROC Slab 1224
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33N 1
31600
©
~- «©
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o 22 ::é: & dh :',/9::::5
S 70 &|| e Tt ;r’,:/ ]
% man hole /;
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o
e E
b | 00 | 3000 SQ0
¢ ~

«*1.8. ’lj:e?otal cost of the newly constructed building is ¥ 15 lacks.
gc w,.i—‘»‘f-"{;}?}:«‘i%i’' the depreciation cost of building after 25 years by
& J},‘?a) straight line method and (b) constant percentage method

" if the scrap value of the building is € 1,20,000. Assume the life
of building as 80 years. SERS
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